
银狼银狼
F OR

DR R01-V2



银狼银狼
Package Insert

注意:请重复右侧装配的步骤。
Note：Please repeat steps for Right Side assembly.

注意:请重复右侧装配的步骤。
Note：Please repeat steps for Right Side assembly.

垫片 M3x6x10（2）
Spacer M3x6x10（2）

垫片 M3x6x10
Spacer M3x6x10机米螺丝 M3x20（2）

Set Screw M3x20（2）

机米螺丝 M3x20
Set Screw M3x20

垫片 M3x6x5（2）
Spacer M3x6x5（2）

垫片 M3x6x5
Spacer M3x6x5

银狼银狼

2

DR R01-V2



银狼银狼
Package Insert

碳纤维底板（1）
Carbon Main Chassis（1）

碳纤维底板
Carbon Main Chassis

前电池仓（1）
Front Battery Holder（1）

前电池仓
Front Battery Holder

后电池仓（1）
Rear Battery Holder（1）

后电池仓
Rear Battery Holder

装配视图
Assembled View

3



银狼银狼
Package Insert

请将轴承适配器安装在第四格定位孔。
Please install the Bearing Adapter at the 
middle position as same as this picture.

防松螺帽 M3（2）
Lock Nut M3（2）

圆头螺丝 M3x10（2）
RH Screw M3x10（2）

圆头螺丝 M3x6（4）
RH Screw M3x6（4）

圆头螺丝 M3x10
RH Screw M3x10

圆头螺丝 M3x6
RH Screw M3x6

圆头螺丝 M3x6
RH Screw M3x6

圆头螺丝 M3x6
RH Screw M3x6

螺柱 M3x22（1）
Aluminium Column M3x22（1）

螺柱 M3x22
Aluminium Column M3x22

请注意右边波箱有标识。
Please notice has an LOGO
on this side.

后避震油压架（1）
 Carbon Rear Shock Tower（1）

金属后波箱
Aluminum Alloy Rear Gear Box

4

防松螺帽 M3
Lock Nut M3

后避震油压架
 Carbon Rear Shock Tower

金属后波箱
Aluminum Alloy Rear Gear Box

皮带 150mm（1）
Belt 150mm (1)

皮带 150mm
Belt 150mm



银狼银狼
Package Insert

请在主轴上选用合适的垫片。 
Install the spacer on the Main Shaft.

前避震油压架（1）
Carbon Front Shock Tower（1）

前避震油压架
Carbon Front Shock Tower

电机座（1）
Carbon Motor Mount （1）

电机座
Carbon Motor Mount 

沉头螺丝 M3x6（2）
CS Screw M3x6（2）

沉头螺丝 M3x6
CS Screw M3x6

圆头螺丝 M3x10（2）
RH Screw M3x10（2）

圆头螺丝 M3x10
RH Screw M3x10

垫片 M3x6x5（2）
Spacer M3x6x5（2）

垫片 M3x6x5
Spacer M3x6x5

电调板（1）
Carbon ESC Mount（1）

电调板
Carbon ESC Mount

二楼板（1）
Carbon Upper Deck（1）

二楼板
Carbon Upper Deck

5



银狼银狼
Package Insert

车壳柱定位板（1）
Carbon Body Mount Brace（1）

车壳柱定位板
Carbon Body Mount Brace

圆头螺丝 M3x10（2）
RH Screw M3x10（2）

圆头螺丝 M3x10
RH Screw M3x10

垫片 M3x6x5（2）
Spacer M3x6x5（2）

垫片 M3x6x5
Spacer M3x6x5

装配视图
Assembled View

6



银狼银狼

7



银狼银狼

通用臂码孔位
Universal Suspension Mount 

Screw Holes

(Yokomo/Overdose Sus.Mount)

通用横置电池仓孔位
Horizontal Orientation Battery 

Install Screw Holes

(Yokomo DRB电池仓)
(Yokomo DRB Battery Holder） 

通用臂码孔位
Universal Suspension Mount 

Screw Holes

(Yokomo/Overdose Sus.Mount)

8



银狼银狼

前避震油压架（1）
Carbon Front Shock Tower（1）

车壳柱定位板（1）
Carbon Body Mount Brace（1）

电机座（1）
Carbon Motor Mount （1）

碳纤维底板（1）
 Carbon Main Chassis（1）

螺柱 M3x22（1）
Aluminium Column M3x22（1）

机米螺丝 M3x20（2）
Set Screw M3x20（2）

垫片 M3x6x5（6）
Spacer M3x6x5（6）

垫片 M3x6x10（2）
Spacer M3x6x10（2）

防松螺帽 M3（2）
Lock Nut（2）

沉头螺丝 M3x6（2）
CS Screw M3x6（2）

圆头螺丝 M3x10（6）
RH Screw M3x10（6）

圆头螺丝 M3x6（4）
RH Screw M3x6（4）

后避震油压架（1）
 Carbon Rear Shock Tower（1）

前电池仓（1）
Front Battery Holder（1）

后电池仓（1）
 Rear Battery Holder（1）

电调板（1）
Carbon ESC Mount（1）

二楼板（1）
Carbon Upper Deck（1）

金属后波箱
Aluminum Alloy Rear Gear Box

左
Left

右
Right

9

皮带 150mm（1）
Belt 150mm (1)



F OR
DR R01-V2

银狼银狼

http://www.bmracing.cc

https://www.facebook.com/BM.Racing.Model/

Made in China

Building Master Technology (Foshan) Co., LTD


